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Quiz 8 (20 points)

1. (5 points) A solution of oxalic acid was made up by dissolving 3.826 g of oxalic acid dehydrate (H2C2O4∙2H2O) in enough water to make 500.0 mL of solution.  What is the concentration of the oxalic acid solution? 

2. (5 points) A sodium hydroxide solution was prepared by diluting 47 mL of 6 M sodium hydroxide to approximately 1 L.  What is the approximate concentration of the solution?

3. (5 points) A 25.00 mL aliquot of the oxalic acid solution was titrated with 31.84 mL of a sodium hydroxide solution.  

4. (5 points) A 2.967 g sample of an unknown acid was titrated with 40.29 mL of the sodium hydroxide solution from question 3 above.  What is the equivalent mass of the unknown acid?










